
��

�� ��������	
�

���� m ∈ N� ��	�
���
 �� �	� ����� a, b ∈ Z �� ����������� 	�
��� m �
�	�
	����
 ��� ���� ��� ���� �	� �� �� ������ ������ m� !��"������ �� �#���� ������$

a mod m = b mod m.

%	#�� ������&������ "&���� ��&������$
 �� ����� a, b �� ���'
&����( ���&�� m

������	�$ ������&����� ��#��"��
 ���
� �� 	 ��)
�� ����� ��&��	����

a ≡ b (mod m).

����� ���� ���� a, b ∈ Z � m ∈ N� *����

a ≡ b (mod m) ⇐⇒ m|b− a.

+�������

����� ��	� ���� a, b, c ∈ Z � m ∈ N� *����,
�- a ≡ a (mod m)

"- a ≡ b (mod m) ⇐⇒ b ≡ a (mod m)

�- a ≡ b (mod m) ∧ b ≡ c (mod m) =⇒ a ≡ c (mod m).
+�������

����� ��
� ���� a1
 a2
 b1
 b2 ∈ Z � m ∈ N� .� a1 ≡ b1 (mod m) � a2 ≡ b2

(mod m)
 �����

a1 + a2 ≡ b1 + b2 (mod m),
a1a2 ≡ b1b2 (mod m).

+�������
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� �����	� �������� �������� �������� ����� �	� �� ���	��
�� �
 ����� �
���
����
������ ������� ������ � ����!
" #
���� 
�����	� ���
����� ��	���� ����� �

�����	�� �� ������
 ������
 	� 
���! ��
�� ��������$
��
��������� ���� � ��
��������� #�� α �� ��
�������� �����" ����	 �%������ ���������
��&
 
����� x, y� x ∈ Z, y ∈ N ��� ����� ��
��∣∣∣α− x

y

∣∣∣ <
1
y2

. (∗)

������ '����� �%������ 
���! ��
�
 �
�� 
�����
� ��(� |α−[α]| = |{α}| < 1" ���
���)
�


�	�� �� �%������ k �
�*� 
����� x1, y1, ..., xk, yk" + ��
����
���� α 
�����
	��
�� 
�� ��
�� � �*�
��� |yjα − xj |, j = 1, ..., k �
 ������� 0" +��&	� �����
����

����� N �
� 
(� ��
���� 1
N < |yjα − xj |, j = 1, ..., k" '�
���	� ���	���� �
���

{lα}, l = 1, ..., N + 1" + ��
����
���� α ����*�
� �� ������ �����  �
���� �� �,����

-�����./" 0�����
� < 0, 1) 	,��	� ���
���1 �
 N ������
��� ��
�� < l−1
N , l

N ), l =
1, ..., N " 2�	� N + 1  �
�,� {lα} 
 N �����
���� ��

 
���! ��
�� �(�
 ���

�� �,���" ��

 �%������ 1 ≤ l1, l2 ≤ N + 1 ��� ����� |{l1α} − {l2α}| < 1

N "



��

���� |[(l1 − l2)α − [l1α] − [l2α]| < 1
N � ������	
������ l1 > l2� ��
�
�� yk+1 =

l1 − l2, xk+1 = [l1α] − [l2α]� ����� �
��� |yk+1α − xk+1| < 1
N � �� ����
��� yk+1

��������� |α − xk+1
yk+1

| < 1
yk+1N � �
� ������ yk+1 ≤ N � ���� xk+1, yk+1 �����

�∗��������� xk+1, yk+1 �� ������� 
������ � ������ xj , yj , j = 1, ..., k ������� � �
����� �������� 	 ��

���� ������� ��	 �	� �� ��!������ ��"�#�� �∗� ��

������ $%� & ����� ������� ��
√

A ��������
�� ���
�� ���'� �����#
������ ���� �
����(������ �(������ ��	������ ��'� ������ x, y � ����� ������� ���������)�# ����
*
��	)�#* 
� ∣∣∣√A− x

y

∣∣∣ <
1
y2

.

��� �+��	� ��	,�� ������� x, y ����� �
���

|x2 −Ay2| = |x−
√

Ay||x +
√

Ay| < 1
y
|x +

√
Ay| <

√
A +

x

y
< 2

√
A + 1.

���� ��� ����� ������� �� #������ |x2−Ay2| �#��������� - ��#� ���
)��* 
� ����./��
�.� 	������ ��'� #���0� � ���
��� ���������)�# ����
 � ���� ���	���, ���������,
���
�* ������� #� m* ���� ����.���/" ��	������ ��'� 	���� ��� ��	������ ��'�
������ ���������)�# ����
 x, y ����� �
��� |x2 − Ay2| = m� ����� �(�����/ ��	,
��� �0��� ������ ���������)�# ����
 x, y, u, v* 
� |x2 − Ay2| = m* |u2 − Av2| =
m ��� 	���, �
��� x ≡ u (mod m), y ≡ v (mod m)� �� ������.��� ���������
|x2 − Ay2||u2 − Av2| = m2. 1�2 �� ��������� |x2 − Ay2| = |x−√Ay||x +

√
Ay|

� |u2 − Av2| = |u − √Av||u +
√

Av| ��������� �� ����
�+�)�# /������# (xu −
Ayv)2 −A(uy − xv)2 = m2���
�
�� X = |xu−Ayv|, Y = |uy − xv|� � ����

|X2 −AY 2| = m2. (∗∗)
- /
�#� 345 ���
)��* 
� m|Y � ����� �� m|X� 6	�
���* 
� Y 	= 0� �	 .� Y = 0*
��������� x

y = u
v = r� ����� x = ry, u = rv � ��#� �� /����� ���
)�� y2|r2−A| =

m = v2|r2 − A| � ���� y = v* ����� �� x = u� ��������� ���� � �)�* 
� �������
x, y, u, v �/ �0���� �	 ��
�
��� X = mX ′, Y = mY ′ ��������� ���'� �∗∗�

X ′2 −AY ′2 = ±1.

�	 �� � ���
����� �������� 1 ��	 X ′, Y ′ �/ ���+���� ��

���� ������� � N� �	 �� ���
−1 �������� ���
���/ ������" �� ���#/ � ���������* 
� X ′2 + AY ′2, 2X ′Y ′ �/
���+���� � N� ���� ��� ��	���
�* 
� ��

��� �������* ��	 �	� �� ��!������ ��"�#��
�∗� �� ������ $%* �� ����� ����� ���+���� � ���
��� ���������)�# ����
�

����� �� �	�
��� �	� ������� �+��	� ���+���� ����� ������� � ���
��� �����7
����)�# ����
� 8��# x0, y0 �/ ��	, ���������, ���
�* 
�

x0 + y0

√
A = min{x + y

√
A, x, y ∈ N, x2 − y2A = 1}.

9� �����,* 
� �� x0, y0 �� ���+���� ����� �������� ���� ���+���� �� ���)�� ������

����	
�� ���
����� ��	�
���* 
� �	 x, y ∈ N � x2 − Ay2 = 1* ��	 �(������ n ∈ N*

�

x + y
√

A = (x0 + y0

√
A)n. (∗ ∗ ∗)



��

�����������	
�� �� 
� �����
�� ��
�
 ����
�	� 
��� n ∈ N� ��

(x0 + y0

√
A)n < x + y

√
A < (x0 + y0

√
A)n+1,

� 
���

1 < (x + y
√

A)(x0 − y0

√
A)n < (x0 + y0

√
A),

���
��� x0 − y0

√
A = (x0 + y0

√
A)−1� �� ���	
�� �� (x + y

√
A)(x0 − y0

√
A)n =

c + d
√

A� ��� c, d 	� 
��� �������� ����	 �������� ���� �
� ����� �������� c, d 
����
�� 1 < c + d

√
A < x0 + y0

√
A� ����� �� �������� �� c, d ∈ N � ���
� ���
���
�

���� � 
���
���
�� x0 + y0

√
A�

−−−−−−−−−−−
����� ���� ���� a, b, c ∈ Z � m ∈ N� �	 (m, c) = 1
 ��
��

ac ≡ bc (mod m) =⇒ a ≡ b (mod m).
��	��
��

����� ���� ���� a, b, c ∈ Z
 c|a
 c|b � m ∈ N
 c|m� ��
��
a ≡ b (mod m) =⇒ a

c ≡ b
c (mod |mc |).

��	��
��

�������� � ������� ��� �� ��� ��� ������ �����
 �	� ����� 
���� ��!
����" ����
���
� �������# � ������"��� �� 	��$�%������ �������� ����& ��' ��
(��
� ��)*�� ����� � ���
��� � ������������ +�
�
�, ��
� ������#
 �� �������	�
(m, c) = 1 �� ��� ���
���" 
������� ��,�� �-����
* �*)����
����� ���� ���� a, b ∈ Z � m ∈ N� �	 a ≡ b (mod m)
 ��
��

m|a ⇐⇒ m|b.
��	��
��

����� ��	� ���� a, b ∈ Z � m, m1 ∈ N� �	 m1|m
 ��
��
a ≡ b (mod m) =⇒ a ≡ b (mod m1).

��	��
��

��	�)��. 
������� 
���) ��%������ �� ��������� ���	
��*�� )���&�� 	��
.��#
����
�,���
��
����� ��
� ���� n ∈ N� ��
��

10n ≡ 1 (mod 9).
��	��
��

/�����0 ���
%�%�
� ��
���
��	�% ���%	���% ���1� ������ ������% 1������	��
��
& ��)��2
� 10n = (9 + 1)n�3

����� ���� 4)��(�� �&�1���� cs(a) �� ���* ��(�
 ������)��.�� (#��� a� ��	��
�

��



��

a ≡ cs(a) (mod 9).

������� 	�
��
� ����
 �����

����� ���� ���� cs(a) �����
�� ������� ����
 ����� a�  �!��
�" �� #�� !���$ a ∈ N�
�� 9|a ⇐⇒ 9|cs(a),
%� 3|a ⇐⇒ 3|cs(a).

������� 	�
��
� ����& ���" ��'" ��(��

����� ���� ���� n ∈ N� 	�
�)

10n ≡ (−1)n (mod 11).
 �!��
��

����� ��	� 	��������$ ����� �� ����
�*�$ 11 #���� �
��&" !�+ �� ������� ���

 ��,��
�� #���&�� )���
��� � ���

 ��,�� �� ��#���&�� )���
��� ����
�*�� 11�  �!��
��

����� ��
� ���� a, b ∈ Z � m ∈ N� -! a ≡ b (mod m)" #�
�) (a, m) = (b, m)�
 �!��
��

.�������" !
��$ 
���� ��!���)�" �� ������ �������� �����

��
� 	� ���� m ∈ N� �� a ∈ N � (a, m) = 1� ��
��

aϕ(m) ≡ 1 (mod m).

 /!�� ��
& 0 �� �������)� �� ���!�*!��� �����

����� ���� ���� a, b, m ∈ N� -! (a, m) = 1, (b, m) = 1" #�
�) (ab, m) = 1�
 �!��
��

������� 	�
��
� ��#��!��� ��

 ' ���%� ����
 �1��

2 ������
����� ���
� %
��)� #�
����3 
�!$
� ���������� ���� a, m �� � 2�
& 0
� a1, ..., aϕ(m) �� �4�
!& ����� #�
����� �� )�����& {1, ..., m}" !
��$ �� ��������
�*�$
� �����) m� 5�����
 {a1, ..., aϕ(m)} %
��)� ������3 ��	�
�����
 ����
���
 ����

��
�
 
�	��� m � ��������3 �&)%���) Rm�

����� ���� -! aai ≡ aaj (mod m)" #�
�) ai = aj �  �!��
��

������� 	�
��
� ����
 �16��

����� ���� 	�� !���$ i ≤ ϕ(m) �7��

�� j(i) ≤ ϕ(m) 
�!$" ��
aai ≡ aj(i) (mod m).



��

�� i1 	= i2� ����� j(i1) 	= j(i2)	 
�����
	

������� ������
 ����� ���	 ��� �����
 ����
�  �!�� ������
 ����� �"#	$

����� ���� �� bi ≡ ci (mod m) ��
 i = 1, ..., k� �����

b1...bk ≡ c1...ck (mod m)
��
 bi, ci ∈ Z	 
�����
	

����� ���� 
�����
� �


(aa1)...(aaϕ(m)) ≡ a1...aϕ(m) (mod m).

����� ��	� 
�����
� �


(a1...aϕ(m), m) = 1.

������� ������
 ����� ���	$

����� ��
� ����%�� ���� �#�� �"� � �"& ������
 �
�� '	

(
�)��� *��
� ��%������ � �
!�� +����
� �� ,��� ���!��	 +��  �
)�� �
�������!�
�
����-��
 ��
�	 .
 ������� ���/���)
 �## �
�
%�0%� ���%	 1��/
��� !� ���2�)��
������
�)��0���� )
3��)��!��� �
%��)����� ����� )0� �� ��� � ��
� �� �
4����  5!
�	
���5!�� �)��� � 
/)5% � /�� �����
� ���5�)6 �� � �/��!���%� ���� ���
�����6	
���5!�� )���5���� �)��6 � �
��!��
�
%��
 � !���/
 ���5	

.
�)0� � ��!�
���� *��
���
� �
�6 �
 )�!�
����%� ����5���0 ��7�� �
��� ��8
���
��%�0�� � 2
��
���%�0�� ��!���)�!7���� ����0 �����
  ����
9��� )� ��
%�� 
8
)�
	

��
������ :���� �����
��%�� ��!���)�!7 �������
)0%�  5!
� �/!����
 2
��
���%��
�����)�!7	

����� �� ;�)� �
 A = {a + kr : k = 0, 1, ...} ��
 a, r ∈ N 	 �����

∀ x ∈ N; x ∈ A ⇐⇒ x ≡ a (mod r).

����� �� �
%� a, r ∈ N� � (a, r) = 1	 ;�)� �
 q = aϕ(r) � A = {a + kr : k =
0, 1, ...}. 
�����
� �
 aqn ∈ A ��
 n = 1, 2, ...	

������� ������
 *��
���� �
�� � ����� �	$

����� �� 
�����
 ����
)�
	

<
�� ' /��� �)��� )��!��� ��
 ��5���� �
= m = p /��� ���� 5!��	 < �����
��5���
 !� �
�� ' )��0�� ���� �������	� 	���	 .
 ���
)���)� �� !����� �/8
�����
9���	 ��
��
 >
���� ��?#�8�??@$ !� )
����� ���
�������� ��
 /�� ����)��	



��

�������	 �
�� �
��� ���
������� ��
	�� ��	� �
������� �
�� �
 ������� ���	
���
���
� �	����

����� ���� �
�� p �
  ���!"�	�� #� a ∈ N � (a, p) = 1$  ����
ap−1 ≡ 1 (mod p).

%���&�
�

'�����( )��&��
 �
�� *�+

��	� �
������� �
�� �,&
�
 ����-�. �� �
-  ��&���� /�	
���
� �
��� 0��1��
�,��- ����
�
 � ���	
�������� �	������

����� 	� %���&�
$ &
 ��	� �
������� �
�� �
 
�����	
���� � ����
�"�( )�
 ��&��
 ���!"�	� p �  �����-
�� !"�	� a  	��"

ap ≡ a (mod p).

����� 
� �
�� p �
  ���!"�	�� )����  �
 1 < k < p �
 ��������1 ��
2��
��

(
p
k

)

�
	��
��1 p�

����� �� %���&�
 ��	� �
�������� �
��  ������ �	�� #$ 3 � �  ��&��"� ���
��
�����
� �������
  ���� a�

�
�� * ��� ���-��
 �
��� -���"���� ��&���.�

����� ���� #� a, m ∈ N � (a, m) = 1$  ���� 
4�����
 a′ ∈ N $ a′ < m ����$ &


aa′ ≡ 1 (mod m).
%���&�
�

'�����( 5-��!�
 a′ = aϕ(m)−1 (mod m)� 0��� a′ ��
�
�� �-��!��
�
 �� 1
a mod m�+

����� ��
� #� a, m ∈ N$  ���� (a, m) = 1  ���
 ��
��$ �
6 
4�����
 a′ ∈ N ����$
&


aa′ ≡ 1 (mod m).
%���&�
�

'�����( )��&��
 �	��� 7*�+
���"�
$ &
 ���8��
���
 � �������� ����  ������ �	��������� 9��&���
 �
��-

���8��
���
 ���������
 �
-����� ��������� ���	����
��� � �����
�� x ��-1�
���
 ���8��
����

ax ≡ b (mod m) (12)



��

��� a, b, m ∈ N� �����	
� ��
�� ��	����	��� 	������� ����� ���� �
��� x� �����
������
� ���	���  �!"� #� ���� �����	�� 	����� ����
 �� �	���	� {0, ..., m − 1},
$����� �� 	�����% ����������� ��	
	����

����� ���� #� x 
� �����	
� ��	����	���  �!"� ����� x mod m 
� ������
�	��
�����	
� ��	����	���  �!"� &��'����

����� �	
� #� (a, m) = 1� ����� ��	����	���  �!" �' ��'�� 
��	� ������
�	�
�����	��� &��'����

 ('���) *������ +���� �!,�"

����� �	�� #� x 
� �����	
� ��	����	���  �!"� ����� �
 �
��� x + tm, t ∈ Z �+
�����	�� ��	����	���  �!"� &��'����

����� �	�� #� (a, m) = 1 � x0 
� ������
�	�� �����	
� ��	����	���  �!"� �����
x ∈ Z 
� �����	
� ��	����	���  �!" ��'�� ������ ��- x ≡ x0 (mod m)� &��'����

����� �		� .�	����	���  �!" �' �����	�� ��'�� ������ ��- (a, m)|b� &��'����

 ('���) *������ ���� !�"

����� �	�� #� (a, m)|b � x0 
� ������
�	� �����	�� ��	����	���

a
(a,m)x ≡ b

(a,m) (mod m
(a,m) ),

����� x = x0+t m
(a,m) , t = 0, ..., (a, m)−1 �+ ������ ������
�	� �����	�� ��	����	���

 �!"� &��'����

 ('���) *������ +���� �/!�"

0��
��� �� ��	����	���  �!" $�- 	��' ����	� �����	�� ���$� �' ��'�� (a, m)
������
�	��� �����	
�

−−−−−−−−−−−
��
	���� �	�� �� �� ������ �� �����	� ������� a′� �� (a, m) = 1� �� m �	 ��
�
���
�� ������� a′ ���	�	 ����� ��	���
����� �
	 �� m �	 �	 �� ���
�� �	 �	��� ������
�	 �� ���!��� "�	�� ���	�	 ������ ��� �	 # ��
	���	� �	�� ���
��� a′ ≡ aϕ(m)−1

(mod m)� "�����	�	� �	 ��������� ��!���� �	 ��������	 ��!�
	�
�	 ��� ��	���$
��� �
	��� ��������� %�����
�� !�!	�	 ��������� 1

5 (mod 101) = a′� &�	' �����$
���	� �	 a′ ≡ 5ϕ(101)−1 (mod 101) = 599 (mod 101) = (53)33 (mod 101) = 2433

(mod 101) = 4011 (mod 101) = 40 ·((40)2)5 (mod 101) = 40 ·855 (mod 101) = ...�
(�

�	 �������	 ��
	���	� �	�� ������� � ��	
	�� ���)��	�!�� �����

xα ≡ a (mod m), (∗∗)



��

��� (a, m) = 1 � (α, ϕ(m)) = 1� �����	� α′ = αϕ(ϕ(m))−1 (mod ϕ(m))� ���
�

����
���� ���� �������	� α · α′ ≡ 1 (mod ϕ(m))� ��� �	����	� �∗∗� �� α′�
�������	� xα·α′ ≡ aα′ (mod m)� ��� α · α′ = k · ϕ(m) + 1� � ���� ���� ���
�

����
���� ���� �������	� xα·α′ ≡ x (mod m) � ���� x ≡ aα′ (mod m) �

�������� �� ��� �� ���!
������ x5 ≡ 2 (mod 169)�

−−−−−−−−−−−
����	 
� ���
��� � ������ 	 ��������	������ ����
���� 
��� � ���������

�	���� ��� �������� ������� ϕ ������� � �
��� 	��!����� ��
�� "��
�#� 
� ��

����������� � ����$���� %���
&� 
� 	�������� ��
�������� �$�
���' �	��������
(� m ∈ N� ��
�� ���$��� {0, ..., m − 1} )����� �	������* 
��)���� Zm �
)����� �� ��	&��* "���#	 $�� ���#	 ����%	�	 	����� m� ����	 �������� �
� �
��� 	��!����� ��
��

��	
 �� ��
� m1, ..., mk ∈ N 
 (mi, mj) = 1 ��� i 	= j� ���
��� m = m1...mk� ��
b1, ..., bk ∈ Z� ��	�� ����	��� ������ ����� x ∈ Zm� �	��� � ������ ���!����
�"�

x ≡ b1 (mod m1)
...

x ≡ bk (mod mk).

��
� 
������� ��� 
��� ����� � ������� � 
�� x� �
��' �#$��� ��	��* ����+
�
 ���� ���!�� � 
�

��� ���,������ � -#��	 
��
� 
������� )��� �)
�����* ��
��+
������ ������ "��
�#� ����$��� �����	�����
* � 
�� x�

#���
 �$%� "��� m ∈ N � x1, x2 ∈ Zm� (� x1 ≡ x2 (mod m)� ��
�� x1 = x2�
-���$
��

#���
 �$&� "��� m1, ..., mk ∈ N � (mi, mj) = 1 ��� i 	= j� (� ��� x1, x2 ∈ Z ���
 

x1 ≡ x2 (mod m1)
...

x1 ≡ x2 (mod mk),
��
��

x1 ≡ x2 (mod m1...mk).
-���$
��

�"����. %�

����
� ��
���
����� ��������� �	�/���� �� k� ���$�
� ��
� 0 � ���
�#
�������

#���
 �$'� -���$
�� $� �1�

��� ������� ����� x ∈ Zm� �
��' �������� ���,�������
	 ��
� 2�



��

������� 	�
��
� ����� ��� � �����
����� ���
��
�� �� ���! �"� �#��
�$%�
 ��������$&�� �'��� x � 
����$()�

����
$��!�)�� *
��)� ������ ����!+ �� ���
' ��$���$�� � ������ ���� ��
� ,�

����� ���� -� ��
�+ �� ��� i = 1, ..., k ���
' ( m
mi

, mi) = 1�

����� ��	� -� ��
�+ �� ��� i, j = 1, ..., k+ i 	= j ���
'
m
mi
≡ 0 (mod mj).

����� �
�� -� ��
�+ �� ��� i, j = 1, ..., k+ i 	= j ���
'(
m
mi

)ϕ(mi) ≡ 1 (mod mi)
� (

m
mi

)ϕ(mi) ≡ 0 (mod mj).

������� 	�
��
� ����� ��, � ��.��

����� �
�� /�$��)�

x0 = b1

(
m
m1

)ϕ(m1)

+ ... + bk

(
m
mk

)ϕ(mk)

.

-� ��
�+ �� x0 �����
��  �$0�
�$%��) � ��
� ,�

������� 	�
��
� ����
 ��1��

����� �
�� ��%� x0 )� �(�$�) � � � ����� ���� /�$��)� x = x0 mod m�
-� ��
�+ �� x ��23� �������� � ��
� ,�

�()
� �)� �� ����� �'$� 
 ���4 ��� ��

�


������� �� �����
� x ∈ {0, 1, 2, ..., 104}+ �"�
x ≡ 1 (mod 3),
x ≡ 3 (mod 5),
x ≡ 6 (mod 6).

	�� 
�% & ��
��
�� �'$� �� ���4 ���� ��
� �� )5��)� �����
���! �� 
� + ��
��
��"
��)� ��$�)�! n �$6��)�%�' n ����')�
�7�)� 	���')�
�7�) ������')� $������)
$�������
�7$& �'��� m1, m2, ..., mn � �$6��)�%��) �'��� x1 ∈ Zm1 , x2 ∈ Zm2 , ..., xn ∈
Zmn

� 	�)�%�
 �'$� �� ���4 ���� ��
� $����)� x1 ∈ Zm1...mn

� &+ �� x ≡ xj

(mod mj), j = 1, 2, ..., n� ��
� ���$�
� x � ��"� 
� $���� �4�
 � �$6��)�%�� x1, x2, ..., xn�



��

����� ���� ���� m1, m2 ∈ N � (m1, m2) = 1� ��	�
�� m = m1m2� �
 b1, b2 ∈ Z�
����� �������� ����	� 
���� x ∈ Zm� 
���� �������� 
�	����	����

x ≡ b1 (mod m1)

x ≡ b2 (mod m2).

 �
�!���

"�����# ����
���� �����	�� ���� $ ��� k = 2�%

&��'�� ���!���� 
�	�
�� ���'
���� ���� �� ��� ��
���	� ��
�� ���'�	� ����(
	����
�� 
�	����	����

	
��
��
� ���� f(x) �� ����	�
 � �����
���	�
� �������	��
� � m1, m2 ∈ N, (m1, m2) =
1� ��	��
� N1 ����� ���
��
�	��� �����	
 ��	����	��� f(x) ≡ 0 (mod m1) � N2

����� ���
��
�	��� �����	
 ��	����	��� f(x) ≡ 0 (mod m2)� ����
 ��	����	���

f(x) ≡ 0 (mod m1 ·m2) 
� N1 · N2 ���
��
�	��� �����	
�

������ ���� x �� ���
��
�	� �����	�� ��	����	��� f(x) ≡ 0 (mod m1 ·m2)� ����

x 
� m1 �� ���
��
�	� �����	�� ��	����	��� f(x) ≡ 0 (mod m1) � x 
� m2 ��

���
��
�	� �����	�� ��	����	��� f(x) ≡ 0 (mod m2)�
������! �� x1 �� ���
��
�	� �����	�� ��	����	��� f(x) ≡ 0 (mod m1) � x2 ��

���
��
�	� �����	�� ��	����	��� f(x) ≡ 0 (mod m2)! ��� �� "� �
	���� ���������

���� �#������ ����� �� 	� x ∈ Zm1·m2 ! $� ����
 x ≡ x1 (mod m1)!x ≡ x2 (mod m2)
� �� � f(x) ≡ 0 (mod m1)!f(x) ≡ 0 (mod m2) � �� � f(x) ≡ 0 (mod m1 ·m2)�

)���*	+ ������ ����� ���!����� 	� �,
�� ����� !� -�	
��� ϕ �� ������(
��
����	�� ��*����� ���!���. �+����
� �����	� � ����������/��� 
��������

����� ����  �
�!��� !� ��� m ∈ N ����� |Rm| = ϕ(m)�

"�����# 0����	�� � /���� ����+�� � ��1	���� -�	
��� ϕ�%
0��� 	� ��� �*� ��� ��
����� ��������
����	��. -�	
��� ϕ 	�� ���
� ��
���.�

!� ��� m, n ∈ N, (m, n) = 1 �����

|Rmn| = |Rm||Rn|.

����� ���� ���� a, m, n ∈ N� �
 (a, mn) = 1� ����� (a mod m, m) = 1 � (a
mod n, n) = 1�  �
�!���

���� m, n ∈ N� (m, n) = 1�  �1	���� ��*����	��

F : Rmn → Rm ×Rn

	�������/��� ��,��*��# ��� a ∈ Rmn

F (a) = (a mod m, a mod n).



��

�������	 
������ F 
� �������� ��	�	 ����� ����

����� ���� �������� �� F 
� ��
������� ����	������

����� ��	� �������� �� F 
� ���
������� ����	������

����� ! "������ ����� ��#�$

����� ��
� �������� �� ϕ 
� %����&���	����	 	���%������ 
�����	�

��
���
�� ������� ������' � ����( �)# &�%���� %����&���	�������� 	���%������


������

Φ(n) =
∑
d|n

ϕ(n).

����� ���� ���� p 
� &���*���� 	 α ∈ N� �������� ��

ϕ(pα) = pα
(
1− 1

p

)
.

����� ! "������ ����� +��$

����� ���� ���� n ∈ N 	 n = pα1
1 ...pαk

k 
� �	������, �����	 *���	 n� "���%

ϕ(n) = n
(
1− 1

p1

)
...

(
1− 1

pk

)
.

��������

-.����
� 	
 �	�/��  0�	�( &�	������ ����� �����	� 1� �� � ���� 
� �	�����, �	
��� ���� ����2 �	�,�	%� ������� ����	
��� � ����	
���� 1� �/	� &�%���� ��&��3
�4	 �,�

5��	� �	 �� �%� �	����	' ���6������	%�� � ����,�� �	 �����%	 x �(��(��
�
�  ����� %�������� 5���� ���6������� �	�,�	%� 
��������
� 
�����
���
�

���� m ∈ N� 7���� a ∈ N �	�,�	%� ��	 �	����,% ��(/��% %� ��� m� 	�
���6������	

x2 ≡ a (mod m).
%� ���/�����
"��&�%�8%�� �� ��	��
�%� a 	= 0�

����� ���� ���� a, m ∈ N� �������� ��
(m− a)2 ≡ a2 (mod m).

9	��
 �	 �� �%� �	����	' &��&	 �%� ��� m = p 
� &���� ������2 ��&����
&���*�����



��

����� ���� ���� a, b ∈ Zp� ��

a2 ≡ b2 (mod p),
	
�
� a = b 
���
 a = p− b� �
������

����
�� ��� ������� ��
� ��� 
 �� !� ��
��" 	
#��$ ��
�# �%� 
���
 ��
�#  ��&

�
#����� ��
� ��� 
 �� �
������

����� ��	� ' ��
���� Zp !� 	���� p−1
2 ��
��
����(�� )�*��
��

����� ��
� �� a !� ��
��
����( )�*�
� �
�#�
 p 
 (a, p) = 1+ 	
�
�

a
p−1
2 ≡ 1 (mod p).

����
�� ,���
��� -�+ �� x2 ≡ a (mod p) 	�� (x, p) = 1 
 	
#���� ��
�# � ��&

'�����+ �� �
�.�#����
 x2 ≡ a (mod p) �� �������� ��
 	�� 	
�
���# /�-��
a ∈ {1, ..., p− 1}�

0��
) -� #������+ 
�
 �1���� �����$ ���
�����!��� ��
��
����" �
�.�#����� -
	��
/�-���(� �
�#�
� p� 2#���� -
 )

���
$ �
�.�#����
�� �*	#

x2 + ax + b ≡ 0 (mod p) (13)

��� a, b ∈ Zp�
�� a !� ��
��
����( )�*�
� �
�#�
 p+ 	
�
� -*��
�
� sqpa �#���� )

�1�
�
� !���
)�
/�
-�� 
)�
/
�
$ �
!������ 	���
�)��" �������� �
�.�#�����

x2 ≡ a (mod p).
34�-�#!� 
�.
����#- 	�� �(	
/�� sqpa�

����� ���� �� x ∈ Zp !� �������� �
�.�#����� x2 ≡ a (mod p)+ 	
�
� x = sqpa

���
 x = p− sqpa� �
������

����
�� �
#���� ��
�# �� �&

����� ���� �
�����+ �� 	�� �
��" ���" /�-�
 x 	�
��

x2 + ax + b ≡ (x + p+1
2 a)2 − (p+1)2a2−4b

4 (mod p).

����� ���� 5
�.�#����
 ��6& �� �������� 	���� ����*+ ��7 /�-�

(p+1)2a2−4b

4 = D

!� ��
��
����( )�*�
� �
�#�
 p� 8�! �������
 -� #�/��" �)$
���

x ≡ −p+1
2 a + sqpD (mod p)



��

x ≡ −p+1
2 a + p− sqpD (mod p).

������� 	�
��
� ����� ��� � �����

����� ���� �����
� ���
�� ������
���� ������  ��
�� 7�

�!����"��� #$ �$ �$ ���

����� ��	� !���
� ������
���� ��"%�
�"��


x2 + 2x + 6 ≡ 0 (mod 7).

����� �
�� 	���&
� &� ������'��"�( )�&

) � ���� ���$ ��* � �+# "� ,
'���,"-
 ��
�� .
�� )��
�( 
����"�� ����� ��� /

0�����
���-�� ������� &� 
-�� ����" � "�����%�"
"���1�� �-&������ ��� �"2

��"�� 
�3��� 41&��$ 
�����"- ������� ������	
��� 
���� ���
����
	�� .
�� � &�  

��"���( "�&�5��

6�
� 4�&( 
��"41 � 
����"1 $ �
��� "��-�� � �
������� ��	� �

�
�� 	��
�� p �
 �
����
 ���������� �����

(p− 1)! ≡ −1 (mod p).

7 8����� 4�&
� '
�� � )���)������($ �� p �� "�)��"� )���41&���

����� �
�� 9� a ∈ Zp �

a2 ≡ 1 (mod p),
)�
� a = 1 ���'� a = p− 1� :����
��

����� �
�� 9� a, b1, b2 ∈ Zp �

ab1 ≡ 1 (mod p)
�

ab2 ≡ 1 (mod p),
)�
� b1 = b2� :����
��

9� a ∈ Zp � a 	= 0$ )�
� )��,� ����� ��+ �;�&

�� a′ 
���$ �� aa′ ≡ 1
(mod p)� 	��,� ����� �*� �;�&

�� �  "���"� Zp �'� ����"� 
��� a′� .
�� � ��
"��-��( �"����"- )���� � a  ��
�� p� 7 )�1)���$ �� "�'
�� �����( "����"��2
"�4"�&($ '
�� � �� ��"�4���( a−1$ )��4� p ��"���� ��

����� �
�� 9� a ∈ Zp$ )�
� a = a−1 )���� �
���$ ��8< a = 1 ���'� a = p − 1�
:����
��

������� 	�
��
� ����
 �*���



��

����� ���� ���� a, b ∈ Zp� ��	�
 a−1 = b−1 ��
�� �	���� ��� a = b� ���
�	��

�����
� ��� a ∈ {2, ..., p− 2}
Ia = {a, a−1}.

����� ��	� ���
�	�� �� ⋃p−2
a=2 Ia = {2, ..., p− 2}.

����� ���� ���
�	�� �� ��� ���	�� a, b ∈ {2, ..., p − 2} ���	� � Ia ∩ Ib 	= ∅ ��
��
�	���� ��� a = b ����� a = b−1 � �	��� ���	�� �� Ia = Ib�

����� ��
� ���
�	�� �� � !"	#$� p−3
2 ������ a1, ..., a p−3

2
	��%��� �� ���	�

⋃ p−3
2

j=1 Iaj
= {2, ..., p− 2}

� Iaj ∩ Iai = ∅ �� i 	= j�

&���#$	� ��$
���!� 	��' k� ��
k⋃

j=1

Iaj = {2, ..., p− 2} ��� ��$��' a1, ..., ak�

����� ���� ���
�	�� ��

(p− 2)! ≡ 1 (mod p).

(�
���� ��#�!	� )���# *+,�-

����� ���� ���
�	� ��	# .�

��#�!	!� /!�"�����$ ��	� "! #�
��
� �� �0���� ��"���#$)���� 	�����!��


�������� ���� p $� ���
��� ������"�� �

1 + 1
2 + · · ·+ 1

p = A
p! .

��	�
 A ≡ −1 (mod p)�

����� �� ���
�	�� �� ��"��

p!, p!
2 , . . . , p!

p−1

") ���!	�1�' ��"��
 p�

����� �� ���
�	� 	�����!��

����� �� ���
�	�� �� ")��	 1 + 1
2 + · · ·+ 1

p �!� $� ���' ��"�� ��� �!���� p�


